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interface AbstractProductA { } [AEF A
class ConcreteProductA1 implements AbstractProductA { }
class ConcreteProductA2 implements AbstractProductA { }

interface AbstractProductB {} //A|= B
class ConcreteProductB1 implements AbstractProductB { }
class ConcreteProductB2 implements AbstractProductB { }

interface AbstractFactory { /13 SelA
AbstractProductA createProductA(); IAEZ A
AbstractProductB createProductB(); /&= B
}

class ConcreteFactoryl implements AbstractFactory { //A|132-A= A1, B1 Al4ib
public AbstractProductA createProductA(){ return new ConcreteProductA1(); }
public AbstractProductB createProductB(){ return new ConcreteProductB1(); }

}

class ConcreteFactory? implements AbstractFactory { //A|23Z-HE A2, B2 it
public AbstractProductA createProductA(){ return new ConcreteProductA2(); }
public AbstractProductB createProductB(){ return new ConcreteProductB2(); }

}

public class Client {
public static void main(String[] args) {

AbstractFactory factory = null; /8% dd

factory = new ConcreteFactory1(); //A|12% 7IS-A|E A1, B1 A4t
AbstractProductA A1 = factory.createProductA():
System.out.printin("A1");

AbstractProductB B1 = factory.createProductB():
System.out.printin("B1");

factory = new ConcreteFactory2();  //A|22% 7t5-H|E A2, B2 A4t
AbstractProductA A2 = factory.createProductA():
System.out.printin("A2");

AbstractProductB B2 = factory.createProductB();
System.out.printin("B2");



